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3409(UAVE D R4 1.000| = 142,400| 142,400 142,400 142,400
2252 [T & hiE RAEXET 2% 4[] 1.000| # 206,600| 206,600 206,600 206,600
& 3,058,516 2,930,740
&% FHBEEE TOMEE
26,640: 101,136




BA i &

BE#ANo 3 | 10X  |[x1oonvvs| BE  |[smeEEE EEHZMNEHE

T5E [B=%7%F— E¥BERD| 4 |rTovsme 55 EHME AE

& EIEEC) & REEAE B =

B {fiNo % B % B & |Efz] B M | = 28 | B W | & %8 "

3401|UAVIZ KB EERE 1.000] = 516,696 516,696| 514,440 514,440

& 516,696 514,440

S FHBEEHE TOMEEE

0: 2,256




BH A =
B #ANo 4 10X  |xoowwse| BE  |[aneEEz GG e
T5E |EEHRE—R EERXRD| 1 [xrooo9ome 55 E Y e ANE
EE B8R (%) i % NEEAGE & =
B {fiNo % B & B = B BEm | & %2 | Eim| = %= P
810[#Z4x 7°5%4100%100%1500mm 1.000[ & 39,300 39,300 0 0
3388 | {tE KL Hh E 15 L=50 1.000| #FF | 134,000/ 134,000 0 0
3387|E/L—IL:E S 500m =L = 1000m 2.800] t 56,300 157,640 0 0
3385[E/L—JLEEE-BE  [500m=L=1000m 1.000| &7 | 2,600,000( 2,600,000 0 0
3386| E/L—/LiE# 500m =L = 1000m 43.000] H 3,500/ 150,500 0 0
3376 B R UE A {4+ 1.000| 75| 223,000 223,000 0 0
3377|#AK B (R T E#L) 1.000| T 19,200 19,200 0 0
g 3,323,640 0
e FERSHE: TOMEE
0: 3,323,640




= 2, REE?
Sk ek ARl 3%t
FEHES 2154 | ES 55 ERES| 2154 |mesmeEs=E
B4 |Gt EE R 1-FNo 10 1.00 21 e AE e E A=
# & |[AEBANS HREEE06km2LLT 3-2 2 B NERAGS B o= [[REesRONES)
R [EliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
1BEE-BEE RIFMTEHEEEREE 1.500] A 65,500 98,250/ 65,500 98,250 0.000 0
2| EEHED R EHEEEREE 2.250] A 57,400 129,150, 57,400 129,150 0.000 0
5|3EMC RIFZMTEHEEEREE 2.250] A 32,800 73,800 32,800 73,800 0.000 0
B 301,200 301,200 0.000 0
B 1 1.0 X7H%4Y 301,200
EEANE 301,200
ZTDMIRE 0
data| (&%) #H1E{R%1.5
4




= 2, REE?
AR B T
IEHES 2197 | EE 55 ZHRES] 2197 |EEsnEEE
Hma 5 | EmsEt 1-FMNo 10 1.00 21 £7% AE ST E A E A=F-
B & [REAERT I REEIR0.6km2LL T 3-5-3 2 B NERAGS B o= [[REesRONES)
e R 7 H ® B = | B B Im | & % | B m | = %= i B3 | = %8
2| FEEER R ERAERHEE 2.700] A 57,400 154,980 57,400 154,980 0.000 0
3|HEMA R ERAEHE 2700 A 51,200 138,240| 51,200 138,240 0.000 0
4| BB R ERAERHEE 1.350 A 40,600 54,810| 40,600 54,810 0.000 0
5|3 EmC R ERAEHE 2700 A 32,800 88,560/ 32,800 88,560 0.000 0
6| BT & RIFEMIERAERHEE 4.050] A 29,000 117,450, 29,000 117,450 0.000 0
g 554,040 554,040 0.000 0
B i 1.0 %Ly 554,040
EEAGE 554,040
ZTDMhIEE 0
datal (&%) #H1E{RER2.7
4




= 2, REE?
AR BER i
2204 | e 55 ERES| 2204 |mEAEMEEE
PEIERRAT 31—} No 10 1.00 21 EX: &N EBH
& |47 0y MR EIF0.6km2LL T 3-5-4 . 3 NEEAGE (BEDS>HLDNED)]
£ o % = | B B @ 28 | H | £ % H# | € %
FEHER RIFMTEHEEEREE 2.850[ A 57,400 163,590 57,400 163,590 0.000 0
FETA R EHEEEREE 2850 A 51,200 145920 51,200 145,920 0.000 0
HEnB RIFZMTEHEEEREE 1.900] A 40,600 77,140 40,600 77,140 0.000 0
HEfC R EEEREE 1.900] A 32,800 62,320/ 32,800 62,320 0.000 0
Bifig R EHEEEREE 0.950] A 29,000 27,550| 29,000 27,550 0.000 0
i 476,520 476,520 0.000 0
B 1 1.0 X7H%4Y 476,520
EEANE 476,520
ZTRMBEE 0

(E%) WHIEFHRE.9




Sk ek ARl "3
HHES 2216 | mE 55 ZHRES| 2216 |EEsnEEE
B4 7 | R EREMNT 1—FNo 10 1.00 21 3 BiirENEB#
8 5 |SMTE MTEEIERAkmIAT 3-5-5 2 - NEZEAE (HED>E DI ES)
T e o % = | Hfr| B ff 28 | H | £ % EE 5
2| E{EHED RIFMTEHEEEREE 1.200 A 57,400 68,880| 57,400 68,880 0.000 0
3|EMA R EHEEEREE 1.200f A 51,200 61,440 51,200 61,440 0.000 0
4|3ENB RIFZMTEHEEEREE 1.200f A 40,600 48,720| 40,600 48,720 0.000 0
5|HiEfiC R EEEREE 0.600] A 32,800 19,680 32,800 19,680 0.000 0
6| FfiiE R EHEEEREE 1.800/ A 29,000 52,200| 29,000 52,200 0.000 0
B 250,920 250,920 0.000
B 1 1.0 X7H%4Y 250,920
EEANE 250,920
ZTRMBEE 0

data| (5#)

IEfR%1.2




= 2, REE?
Sk ek ARl 3%t
HHES 2229 | mE 55 ERES| 2229 |EEskEEE
B4 | SRESERK 1—FNo 10 1.00 21 3 AE BiirENEB#
B G [HEERHS _ 3-6 . 3 NEEAGE B o= [[REesRONES)
R [EliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
2| E{EHED RIFMTEHEEEREE 1.800] A 57,400 103,320 57,400 103,320 0.000 0
3|EMA R ERAEHE 1.200f A 51,200 61,440 51,200 61,440 0.000 0
4|3ENB RIFZMTEHEEEREE 1.800/ A 40,600 73,080 40,600 73,080 0.000 0
B 237,840 237,840 0.000 0
B 1 1.0 X7H%4Y 237,840
EEANE 237,840
ZTDMIRE 0
data| (&%) #H1E{%R%1.2
4




= 2, REE?
Sk ek ARl 3%t
HHES 2252 | mE 55 ERES| 2252 |EEsnEEE
Bii&# |1 & HE 1—FNo 10 1.00 21 % AE e A E A=Eo
# 6 [RAEXH 5% 40 _ 1-1 1 B NERAGE B o= [[REesRONES)
R [EliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
2| E{EHED RIFMTEHEEEREE 2.000 A 57,400 114,800 57,400 114,800 0.000 0
3|EMA R ERAEHE 1.000 A 51,200 51,200/ 51,200 51,200 0.000 0
4|3ENB RIFZMTEHEEEREE 1.000 A 40,600 40,600/ 40,600 40,600 0.000 0
B 206,600 206,600 0.000 0
B fiff 1.0 43y 206,600
EEANE 206,600
ZTDMIRE 0
dat: (&E) EFEFE. PETEE20E. REYMARBROT4E




= REE?
=25 1 A B (i 3= e
HHES 3212 | = 55 ERES| 3212 |EEsnEEE
Bm&# | Bt K RE 1-FNo 10 1.00 21 A AE ST E A E A=F-
B LR ¥illpes _ 3-4-1-1 . B NEEAHRE B o= [[REesRONES)
R [EliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
1|FEMEREES |[RIEMBEEEREE 0.330[ A 35,000 11,550| 35,000 11,550 0.000 0
12| EREE R EHEEEREE 0.670) A 25,900 17,353| 25,900 17,353 0.000 0
i 28,903 28,903 0.000 0
B fiff 1.0 A8y 28,903
EEANE 28,903
ZTRMBEE 0
data| (5#)
4




= REE?
=25 1 A B (i 3= i
HHES 3213 L = 55 ZHRES| 3213 |EEsnEEE
BE& M | Bio KAt ERBE 1-FNo 10 1.00 21 A AE ST E A E A=F-
B ENEIEANEY _ 3-4-1-2 . 3 NEEAGE B o= [[REesRONES)
R [EliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
* 10| #h 25 ER & A RIFMTEHEEEREE 0.050] A 47,500 2,375 47,500 2,375 0.000 0
* 1M[FEHERES |RIEMERERE 0.780[ A 35,000 27,300/ 35,000 27,300 0.000 0
504 |1 & MR LHEIcHTHES 1.000[ % 29,675 297 0 0| & 0.000 0
803| B EB/K L5 PCh—F= 30.000, H 1,585 47,550 0 0| MR B 0.000 0
B 77,522 29,675 0.000 0
B 1 1.0 H&Y 77,522
EEANE 29,675
ZTRMBEE 47,847
data| (&%) 420,000*%0.3773/100=1,585
4




= REE?
=25 1 A B (i 3= e
HHES 3216 | _ = 55 ZHRES| 3216 |EEsnEEE
HEifa % [ TFKEBABRKELIERE) 1-FNo 10 1.00 21 ¥L/[] AE e E A=
# & |FLR30mET _ 3-4-7- . B NEEAHRE B o= [[REesRONES)
R BN | 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
10| #h 25 ER & A RIFMTEHEEEREE 0.600] A 47,500 28,500/ 47,500 28,500 0.000 0
1M[FEHERES |RIEMERERE 0.600[ A 35,000 21,000/ 35,000 21,000 0.000 0
12(ERES RIFZMTEHEEEREE 1.100] A 25,900 28,490| 25,900 28,490 0.000 0
* 69|18 K9 L KR EERR 0.500] kg 58 29 0 0|#HI & 0.000 0
504 |1 & MR LHEIcHTHEE 10.000] % 29 3 0 0| & 0.000 0
805|#h F/KiR[E 2 KCM-200C 0.600 H 815 489 0 0|t 2 & 0.000 0
i 78,511 77,990 0.000 0
B fiff 1.0 F./[EHY 78,511
EEANE 77,990
ZTRMBEE 521

datal (&%) 1FL1[E1Z7=Y) 216,000%0.3773/100=815




= REE?
=25 1 A B (i 3= e
M &S 3217 _ = 55 ZRES| 3217 |aRHnEEE
B4 [ FKEBACRA LITIRE) 1-FNo 10 1.00 21 ¥L/[] AE e E A=
# & |FLR30mET _ 3-4-7- . B NEEAHRE B o= [[REesRONES)
R BN | 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
10| #h 25 ER & A RIFMTEHEEEREE 0.700] A 47,500 33,250| 47,500 33,250 0.000 0
1M[FEHERES |RIEMERERE 0.700[ A 35,000 24,500( 35,000 24,500 0.000 0
12(ERES RIFZMTEHEEEREE 1.400[ A 25,900 36,260| 25,900 36,260 0.000 0
* 69|18 K9 L KR EERR 0.500] kg 58 29 0 0|#HI & 0.000 0
504 |1 & MR LHEIcHTHEE 10.000] % 29 3 0 0| & 0.000 0
805|#h F/KiR[E 2 KCM-200C 0.700 H 815 571 0 0|t 2 & 0.000 0
i 94,613 94,010 0.000 0
B fiff 1.0 F./[EHY 94,613
EEANE 94,010
ZTRMBEE 603

datal (&%) 1FL1[E1Z7=Y) 216,000%0.3773/100=815




= REE?
=25 1 A B (i 3= i
FHES 3220 | ®E 55 |Bm&s| 3220 |BBRNEES
H{fi & %5 | #h FKREBB(RTYITRE) 1-FNo 10 1.00 21 7L AE e E A=
B & _ _ 1% - NEEAE B o= [[REesRONES)
R [EliNe| 2 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
10| #h 25 ER & A RIFMTEHEEEREE 0.300[ A 47,500 14,250| 47,500 14,250 0.000 0
1M[FEHERES |RIEMERERE 0.300[ A 35,000 10,500/ 35,000 10,500 0.000 0
12(ERES RIFZMTEHEEEREE 0.600[ A 25,900 15,540| 25,900 15,540 0.000 0
* 69|18 K9 L KR EERR 0.500] kg 58 29 0 0|#HI & 0.000 0
504 |1 & MR LHEIcHTHEE 10.000] % 29 3 0 0| & 0.000 0
805|#h F/KiR[E 2 KCM-200C 1.700| A 815 1,386 0 0|t 2 & 0.000 0
i 41,708 40,290 0.000 0
B fiff 1.0 ALY 41,708
EEANE 40,290
ZTRMBEE 1418

data| (&%) 216,000%0.3773/100=815




= REE?
=25 1 A B (i 3= i
HHES 3222 | mE 55 ERES| 3222 |mEskEEE
BEl& W |thREHEARE 1-FNo 10 1.00 21 = AE e E A=
B [REEFRREE _ 3-3-1-1 . 3 NEEAGE B o= [[REesRONES)
R [BliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
* 10| #h 25 ER & A RIFMTEHEEEREE 0.400] A 47,500 19,000] 47,500 19,000 0.000 0
* 1M[FEHERES |RIEMERERE 0.400[ A 35,000 14,000| 35,000 14,000 0.000 0
* 12(ERES RIFZMTEHEEEREE 1.200f A 25,900 31,080 25,900 31,080 0.000 0
504|#1 #1 & NELEIcHTIEE 62.000] % 64,080 39,730 0 0|#HI & 0.000 0
B 103,810 64,080 0.000 0
B fiff 1.0 FEY 103,810
EEANE 64,080
ZTRMBEE 39,730

data| (5#)
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=25 1 A B (i 3= i
HHES 3223 = 55 EHRES| 3223 |EEsnEEE
B {45 # | Mh SRR 4EET &R 1—FNo 10 1.00 21 [ AE BiirENEB#
B & _ -3-1-2 . B NEEAHRE B o= [[REesRONES)
R [EliNe| 2 7 T 1 B & | Efu| = il %8 | & m | = 28 i B& | = %8
* 10| #h 25 ER & A RIFMTEHEEEREE 0.000] A 47,500 0| 47500 0 0.000 0
* 1M[FEHERES |RIEMERERE 0.040[ A 35,000 1,400| 35,000 1,400 0.000 0
* 12(ERES RIFZMTEHEEEREE 0.040] A 25,900 1,036] 25,900 1,036 0.000 0
504|#1 #1 & NELEIcHTIEE 4.000] % 2,436 97 0 0|#HI & 0.000 0
806 | ih 5= E AR ET SRL-13(1 H/8 B iR 43 7500 & 175 1,313 0 0| IR 0.000 0
i 3,846 2,436 0.000 0
B fiff 1.0 [EHY 3,846
EEANE 2,436
ZTRMBEE 1,410

data| (f&%) 120,000%0.1460/100=175




= REE?
=25 1 A B (i 3= i
HHES 3224 = 55 ERES| 3224 |EEsnEEE
B {45 #h | MhSRAPHEET & K 2R IE 1-FNo 10 1.00 21 A RE e E A=
B & _ 3-3-1-3 . B NEEAHRE B o= [[REesRONES)
R [EliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
* 10| #h 25 ER & A RIFMTEHEEEREE 0.100[ A 47,500 4,750| 47,500 4,750 0.000 0
* 1M[FEHERES |RIEMERERE 0.200[ A 35,000 7,000, 35,000 7,000 0.000 0
* 12(ERES RIFZMTEHEEEREE 0.300] A 25,900 7,770| 25,900 7,770 0.000 0
504|#1 #1 & NELEIcHTIEE 1.000[ % 19,520 195 0 0|#HI & 0.000 0
i 19,715 19,520 0.000 0
B 1 1.0 H&Y 19,715
EEANE 19,520
ZTRMBEE 195
data| (5#)
4




= REE?
=25 1 A B (i 3= i
HHES 3228 L mE 55 ZHRES| 3228 |EEsnEEE
Bifi4# |BKEE R RVEFEIE 1-FNo 10 1.00 21 ®=A AE HifTENZ8H
B & _ 5-1-1-1(2) f 3 NEEAGE B o= [[REesRONES)
R [EliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
* 122(ERES RIFMTEHEEEREE 0550 A 25,900 14,245 25,900 14,245 0.000 0
* 22| T R EHEEEREE 0.300] A 29,600 8,880 0 HEE 0.000 0
504 |1 & HEEHEIcHTBEE 1.000[ % 23,125 231 0 MEE 0.000 0
802| BELFREETIEH  |EnfEIwREY 30.000] H 365 10,950 0 MW E 0.000 0
B 34,306 14,245 0.000 0
H i 1.0 FHANY 34,306
EEANE 14,245
ZTRMBEE 20,061

data| (5#)

250,000%0.1460/100=365




= REE?
SR KBS gt
&S 3237 mE 55 Z85EE| 3237 |mEameEE
B {45 #4 | #h R OKAR B & F DR AT 1-FNo 10 1.00 21 7L AE e E A=
B & _ 3-5-2 . 3 NEEAGE B o= [[REesRONES)
R [EliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
* 4|3ENB RIFMTEHEEEREE 0.320 A 40,600 12,992] 40,600 12,992 0.000 0
* 5|HiEfiC R EHEEEREE 0.360[ A 32,800 11,808| 32,800 11,808 0.000 0
* e =] RIFZMTEHEEEREE 0.360[ A 29,000 10,440| 29,000 10,440 0.000 0
22| T R EEEREE 0.300[ A 29,600 8,880 0 0 0.000 0
504 |41 ¥ & MR LHEIcHTHEE 1.000] % 35,240 352 0 0 0.000 0
i 44,472 35,240 0.000 0
B 1 1.0 AL.3Y 44,472
EEANE 35,240
ZTDMhIEE 9,232
data| (5#)
4




= REE?
=25 1 A B (i 3= e
I &5 3299 | ES 55 ZREE] 3299 |EEmMEEE
Bifi&# | EHEERYEED 1—FNo 10 1.00 21 3 AE BiirENEB#
B e EERAME@AEREXBEESN) 1-4 % 8 NEEAGE B o= ||REDL0sES)
R BN | 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
831| BRI BEIIBIMYELD |mesrpnrnmrzmassy 0.800| 7% 64,600 51,680 0 0.000 0
i 51,680 0 0.000 0
B 1 1.0 X7H%4Y 51,680
EEAGE 0
ZTRMBEE 51,680
data| (f&%) 0.04X+0.76 K —Ys91K
4




= REE?
=25 1 A B (i 3= e
I &5 3300 | ES 55 ZEE] 3300 |EEZMEEE
Bifi&# | EHEERYEED 1—FNo 10 1.00 21 3 AE BiirENEB#
B e ERAGEEREBES) 1-4 % 8 NEEAGE B o= ||REDL0sES)
R BN | 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
828| B BB ELYD [ B@ELERS) 0.800| 7% 78,800 63,040 0 0.000 0
i 63,040 0 0.000 0
B 1 1.0 X7H%4Y 63,040
EEAGE 0
ZTRMBEE 63,040
data| (f&%) 0.04X+0.76 K —Ys91K
4




= REE?
=25 1 A B (i 3= e
IEHES 3301 | EE 55 BERES 3301 HEFMEEE
B {4 F | B i 2 D 4B R 1—FNo 10 1.00 21 3 AE BiirENEB#
B S |EEAME@ENSEREXBEESD) 1-4 % B NEEAGE B o= || BE2s0nES)
T 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
820|MTERFDIER | nzmrzaazy 0.800| 7% 60,500 48,400 0 0.000 0
B 48,400 0 0.000 0
B 1 1.0 X7H%4Y 48,400
EEAGE 0
ZTRMBE 48,400
data| (J5%) 0.04X+0.76 & —Yy¥ 1K
4




= REE?
=25 1 A B (i 3= e
MEH &S 3302 | ES 55 ZEE] 3302 |[meEsmEEE
B {4 F | B i 2 D 4B R 1—FNo 10 1.00 21 3 AE BiirENEB#
B e ERAGEEREBES) 1-4 14 8 NEEZEAHE B o= ||REDL0sES)
R BN | 2 7 T 1 B & | By B m | & %8| B i | & %8 i H® | = %8
830|MTE R EDER  |mpinz@sensn 0.800| ¥7% 78,800 63,040 0 0 0.000 0
i 63,040 0 0.000 0
B 1 1.0 X7H%4Y 63,040
EEAGE 0
ZTRMBE 63,040
data| (J5%) 0.04X+0.76 & —Yy¥ 1K
4




= REE?
=25 1 A B (i 3= i
M &S 3347 _ = 55 ZES| 3347  |ERHnEEE
BRAF [N TEFFICLEFE RE 1-FNo 10 1.00 21 7L AE e E A=
B & [20mLl F30m*K i _ _ 12 B NERAGS B o= [[REesRONES)
R [EliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
10| #h 25 ER & A RIFMTEHEEEREE 0.500] A 47,500 23,750| 47,500 23,750 0.000 0
1M[FEHERES |RIEMERERE 0.500[ A 35,000 17,500/ 35,000 17,500 0.000 0
12(ERES RIFZMTEHEEEREE 1.500f A 25,900 38,850| 25,900 38,850 0.000 0
x | 834|/\ATEHET VP01 5.2~ 1 mp AN~ 25.000f m 4,200 105,000 0 ol iRz & 0.000 0
* | 839[)—F#z VP40mm 362.500] m 80 29,000 0 0]25.00/2+25.00+400] | 0.000 0
504|#1 #1 & NELEIcHTIEE 21.000] % 134,000 28,140 0 0|#HI & 0.000 0
i 242,240 80,100 0.000 0
B fiff 1.0 ALY 242,240
EEANE 80,100
ZTDMhIEE 162,140
dat: (BgE) )V—FiR MHE
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SR KBS gt
M &S 3350 _ = 55 ZiES| 3350 |ERHnEEE
BRAF [N\ATEEFICEZFE & 1—FNo 10 1.00 21 [ AE BiirENEB#
B & _ _ f 3 NEEAGE B o= [[REesRONES)
T 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
* 1|FEMEREES |[RIEMBEEEREE 0.040[ A 35,000 1,400] 35,000 1,400 0.000 0
* 12| EREE R EHEEEREE 0.040[ A 25,900 1,036] 25,900 1,036 0.000 0
504 |1 & MR LHEIcHTHES 1.000[ % 2,436 24 0 0| & 0.000 0
808|E I E 25 INMTUVTHETH 0.040[ & 570 23 0 ol iRz & 0.000 0
i 2,483 2,436 0.000 0
B fiff 1.0 @HY 2,483
EEANE 2,436
ZTRMBEE 47
data| (f&%) 151,000%0.3773/100=570
4




= REE?
=25 1 A B (i 3= i
HHES 3351 _ = 55 ZiFEE| 3351 |EEAMETEER
BEZH |N\ATEHIZLIFAET EREHE 1-FNo 10 1.00 21 A AE e E A=
B & _ _ 1% - NEEAE B o= [[REesRONES)
R [EliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
* 10| #h 25 ER & A RIFMTEHEEEREE 0.100[ A 47,500 4,750| 47,500 4,750 0.000 0
* 1M[FEHERES |RIEMERERE 0.200[ A 35,000 7,000, 35,000 7,000 0.000 0
* 12(ERES RIFZMTEHEEEREE 0.300] A 25,900 7,770| 25,900 7,770 0.000 0
504|#1 #1 & NELEIcHTIEE 1.000[ % 19,520 195 0 0|#HI & 0.000 0
i 19,715 19,520 0.000 0
B 1 1.0 H&Y 19,715
EEANE 19,520
ZTRMBEE 195
data| (5#)
4




A A R B A i
HHES 3352 L = 55 ZREE| 3352 |[mEaneEE=E
BB |BBnER R UG EREE 1-FMNo 10 1.00 21 = AE ST E A E A=F-
B & _ _ f 3 NEEAGE B o= |[eEss0nEs)
e H ® ERETARER % | = m | = %8 i EES g
* 15[ Bl=F EHEm R ERAERHEE 0.010] A 45,700 457| 45,700 457 0.000 0
* 16|81 = B Afi R ERAEHE 0.130 A 40,000 5,200/ 40,000 5,200 0.000 0
* 17[B=HEhE RIGMTEEEREE 0.140[ A 30,700 4,298| 30,700 4,298 0.000 0
* 18RI EBNF R ERAEHE 0.170| A 29,600 5,032| 29,600 5,032 0.000 0
500/ & HE SIS HEE 8.500] % 14,987 1,274 0 0| ZDthiZE 0.000 0
g 16,261 14,987 0.000
B fiff 1.0 g4y 16,261
EEAGE 14,987
ZTDMhIEE 1,274

dataf (&%) 1/35m %Y HEREHBEERE+MHE




— ‘ﬁ; 1
kR R E ey
HHES 3354 | mE 55 ZiES| 3354 |EEsKEEE
B (i 5 | #thep e 5 ER A 1-FNo 10 100.00 21 E] AE BEitrENEBH
B & _ _ 1% - NEEAE B o= [[REesRONES)
e 7 H 1 B = | B B Im | & % | B m | = %= i H® | = %8
* 10[4#h B SR E BEm R ERAERHEE 0.050] A 47,500 2,375 47,500 2,375 0.000 0
* 12| ERES R ERAEHE 0.500] A 25,900 12,950/ 25,900 12,950 0.000 0
500/ & HESHBITHT HEE 3.000] % 15,325 460 0 0| ZDthiZE 0.000 0
L 15,785 15,325 0.000 0
B fiff 1.0 EHY 158
EEAGE 153
ZTDMhIEE 5
datal ({§#)
4




= REE?
=25 1 A B (i 3= i
&S 3355 mE 55 Z83EB| 3355 |mEamemEE
BElA % (HhepiEsT EREE 1-FNo 10 100.00 21 = RE e E A=
B & _ _ 1% - NEEAE B o= [[REesRONES)
R [EliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
* 10| #h 25 ER & A RIFMTEHEEEREE 0.020] A 47,500 950/ 47,500 950 0.000 0
* 12| EREE R EHEEEREE 0.400[ A 25,900 10,360| 25,900 10,360 0.000 0
504 |1 & MR LHEIcHTHES 3.000] % 11,310 339 0 0| & 0.000 0
i 11,649 11,310 0.000 0
B fiff 1.0 25Y 116
EEAGE 113
ZTRMBEE 3
data| (5#)
4




AR 22 {8 31| BE i =%

aEEL
T
FHEES 3376 | = 55 Z3EE| 3376 |EEAMEEE
Hifi & | EimE VAT 31—k No 10 1.00 21 EZ73 AE e A EA=E
B & _ _ % B NEEAE B oz ||EEss0nEs)
e 7 H B = | B B Im | & % | B m | = %= i H® | = %8
600 | ZE{E B U B A 4+ [+ 1.000| EF 223,000 223,000 0 0| Z DR E 0.000 0
g 223,000 0 0.000 0
B {f 1.0 EFHELY 223,000
EEAGE 0
ZTDMhIEE 223,000
datal ({§#)
4




AR 22 {8 31| BE i =%

mEEL
SETL
FHES 3377 | S 55 ZRES| 3377 |wesmkemE=
B [$87KE R T 8Ex) 31—} No 10 1.00 21 i AE e A EA=E
B & _ _ # B NEEAGE B o= [[REesRONES)
HE BN | 1 i 1 B & | Ef| B im | & %8| B m | & %8 i B | & %
604|#47K B (R 7iE#x7) |20m Ll E150m LT 1.000| EERT 19,200 19,200 0 0| Z DR E 0.000 0
g 19,200 0 0.000 0
B i 1.0 BERrSY 19,200
EEAGE 0
ZTDMIEE 19,200
datal (&%)
4




— P ; }
2 21 18 Il B i 5= e
FHES 3381 | _ ®E 55 EBAHEEE
Bma% [XEHR—)>Y H86mm HGELY T 10 1.00 HifTENZ8H
B & _ 2) f 3 NEEAE (BEDS>HLDNED)]
e BN f G 5 = | B4 B @ & B8 50 ] H# | & %
919 |+mk—ry poomm HELYE m 34,100 34,100 O|ZFDihixE 0.000 0
g 34,100 0.000 0
B i 1.0 m4lY) 34,100
EEAGE 0
Z DR E 34,100
data| (5#)
4




AR 22 {8 31| BE i =%

mE
it
e 3382 | e 55 BEONEEE
Hma% |£EHR—)>T ¢86mm ERELYL 1.00 ST E A E A=F-
B & _ 2) 3 NEEAE (BEDS>LDNES)
N & a3 #H HEMEER T ETE & ] EE:S
916|+mx—vor soomm zEELYE m 69,100 0| ZDih iR & 0.000
B 69,100 0.000
B {f 1.0 m&Y 69,100
EEAGE 0
ZTDMhIEE 69,100
datal ({§#)
4




AR 22 {8 31| BE i =%

fREEL
e
e 3383 | me 55 EHREE| 3383 |EEAMEEER
Hm% 5 |[Z28ER—)2T ¢86mm A J1-FNo 10 1.00 21 m AE e A A=E¢
B & _ 5-1-1-1(2) f 3 NEEAGE B o= [[REesRONES)
T T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
917|2ak—>y gsomm B 1.000] m 34,800 34,800 0 0| ZDIIRE 0.000 0
i 34,800 0 0.000 0
B 1 1.0 m4lY) 34,800
EEAGE 0
ZTRMBEE 34,800
data| (5#)
4




= REE?
=25 1 A B (i 3= i
HHES 3384 | = 55 ZiES| 3384 |mEsmnEEE
Bl& W |t iEst RE 1-FNo 10 1.00 21 7L AE e E A=
B & [20mLl F30m*K i _ _ 12 B NERAGS B o= [[REesRONES)
R [EliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
10| #h 25 ER & A RIFMTEHEEEREE 2.000] A 47,500 95,000| 47,500 95,000 0.000 0
12| EREE R EHEEEREE 11.000] A 25,900 284,900/ 25,900 284,900 0.000 0
*x | 9o18[theh/dfEEt #FER 30m 3085 1.000{ = 694,700 694,700 0 0| IR 0.000 0
* | 919|HhchifiEEt #h EE  30FH 1.000[ = 467,200 467,200 0 0| MR B 0.000 0
504 |1 & MR LHEIcHTHEE 3.000] % 1,161,900 34,857 0 0| & 0.000 0
i 1,576,657 379,900 0.000 0
B 1 1.0 AL.3Y 1,576,657
EEANE 379,900
ZTRMBEE 1,196,757
datal (&%) #IERE 10
4




— Y ; }
kR R E i
FHES 3385 EE 55 ZiFEE| 3385 |mEmmEEE
BELF |B/L—ILEEE - 1-FMNo 10 1.00 21 AT AE e A E A=
# & [500m=L=1000m _ BeesIEs % B NEEAGE B o= [[REesRONES)
e 7 H ® B = | B B Im | & % | B m | = %= i B3 | = %8
* | 921|E/L—/LEE5- % [500=L <1000 1.000| #Fr | 2,600,000 2,600,000 0 0| ZDHhEE 0.000 0
g 2,600,000 0 0.000 0
B i 1.0 ERF&Y 2,600,000
EEALE 0
ZTDMhIEE 2,600,000
datal ({§#)
4




AR 22 {8 31| BE i =%

aEEL
e L
e 3386 | ) 55 EE S| 3380 |EBEMEEE
B{fLZ# |E/L—ILER —FNo 10 1.00 21 =] AE ST E A E A=F-
# & [500m=L=1000m _ BeesIEs 1% - NEEAE B o= [[REesRONES)
e 7 H ® B = | B B Im | & % | B m | = %= i B3 | = %8
x | 922|F/L—)LiEF 500=1< 1000 000 H 3,500 3,500 0 0| E 0.000 0
B 3,500 0 0.000 0
B i 1.0 B4Y 3,500
EEAGE 0
Z DR E 3,900
datal ({§#)
4




1 P ; }
2 21 18 Il B i 5= i
e 3387 | me 55 EHREE| 3387 |EBAMEEER
B{f{LZ# | T/ L—ILIEHE —FMNo 10 1.00 21 t A= e E A=
# & [500m=L=1000m _ -3-1-3 1% - NEEAE B o= [[REesRONES)
R [EliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
x | 920/ F/L—)LiEHE 500=1.<1000 000] t 56,300 56,300 0 0| Z DR E 0.000 0
B 56,300 0 0.000 0
B 1 1.0 t24Y) 56,300
EEAGE 0
ZTRMBEE 56,300
data| (5#)
4




AR 22 {8 31| BE i =%

aEEL
e L
FHEES 3388 | HmE 55 ZFERI| 3388 |mESHMEEER
B4 45 (BRI R 15 1-FMNo 10 1.00 21 AT AE e A E A=
& 5 [L=50 _ 3-3-1-3 % B NEEAE B oz ||EEss0nEs)
e 7 H 1 B = | B B Im | & % | B m | = %= i B3 | = %8
* | 923|tEsHt RIS 15° ~30° [L=50 000| #FRr 134,000 134,000 0 0| ZDHhiRE 0.000 0
B 134,000 0 0.000 0
B i 1.0 ERF&Y 134,000
EEAGE 0
ZTDMhIEE 134,000
datal ({§#)
4




= REE?
=25 1 A B (i 3= i
FEHES 3389 | e 55 Z5ES| 3389 |EEsHEEE
Bf& % eI iRt 31—FNo 10 1.00 21 = RE e E A=
B &|4JOvy _ _ e B NEEAHRE B o= [[REesRONES)
R [EliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
2| FEHED RIFMTEHEEEREE 2500 A 57,400 143,500 57,400 143,500 0.000 0
3|EMA R EHEEEREE 5.000] A 51,200 256,000/ 51,200 256,000 0.000 0
4|3ENB RIFZMTEHEEEREE 2500 A 40,600 101,500 40,600 101,500 0.000 0
5|HiEfiC R EEEREE 2500 A 32,800 82,000/ 32,800 82,000 0.000 0
6| FfiiE R EHEEEREE 2500 A 29,000 72,500 29,000 72,500 0.000 0
B 655,500 655,500 0.000 0
B fiff 1.0 XHY 655,500
EEANE 655,500
ZTRMBEE 0
datal (&%) FIERE 25
4




AR 22 {8 31| BE i =%

I =

3390 | = 55 ZHES| 3390 |mEsnEEE
B4 # |VEXETE 1—FNo 10 1.00 21 3 BiiENEBH
B & _ 5-1-1-1( e B NEEAHRE (BBEDSLDINES)
T e o % : = | B B @ 28 | H | £ % H# 8
1582 FEHED RIFMTEHEEEREE 0.500] A 45,700 22,850| 45,700 22,850 0.000 0
168 £ FEf R EHEEEREE 0.330] A 40,000 13,200/ 40,000 13,200 0.000 0
178 EFEh#d R3pfiTEEERLE 0.250] A 30,700 7,675 30,700 7,675 0.000 0
18| BIEBNF R EEEREE 0.330 A 29,600 9,768/ 29,600 9,768 0.000 0
i 53,493 53,493 0.000
B 1 1.0 X7H%4Y 53,493
EEANE 53,493
ZTRMBEE 0

data| (5#)




AR 22 {8 31| BE i =%

EHES 3391 L P 55 EHRES| 3391 |[EEAMEEE
BEEN |EERRUREADRE £ 1-FNo 10 0.10 21 km2 HifTENZ8H
B & _ _ e B NEEAHRE (BBEDSLDINES)
T e o % = | Hfr| B ff 28 | H | £ % EE 8
1582 FEHED RIFMTEHEEEREE 0470 A 45,700 21,479 45,700 21,479 0.000 0
168 £ FEf R EHEEEREE 0.350] A 40,000 14,000/ 40,000 14,000 0.000 0
178 EFEh#d R3pfiTEEERLE 0.390] A 30,700 11,973| 30,700 11,973 0.000 0
18| BIEBNF R EEEREE 0.280[ A 29,600 8,288/ 29,600 8,288 0.000 0
19 A EFHBE R EHEEEREE 0.050[ A 24,200 1,210 24,200 1,210 0.000 0
B 56,950 56,950 0.000
B i 1.0 km2 L) 569,500
EEANE 569,500
ZTRMBEE 0

data| (5#)




A A R B A %
HHES 3392 = 55 ZHRES| 3392 |EEisnEEE
BE{ZF# |UAVIC KD ZEhizgs 1—FNo 10 0.10 21 km2 e A E A=Eo
B & _ _ e B NEEAHRE (BBEDSLDINES)
T e o % = |Hfu| B MW | € B | E M| £ 2 EE 8
1582 FEHED RIFMTEHEEEREE 0.330[ A 45,700 15,081] 45,700 15,081 0.000 0
168 £ FEf R EHEEEREE 0.360] A 40,000 14,400 40,000 14,400 0.000 0
178 EFEh#d R3pfiTEEERLE 0.100] A 30,700 3,070 30,700 3,070 0.000 0
18| BIEBNF R EEEREE 0.100[ A 29,600 2,960/ 29,600 2,960 0.000 0
19 A EFHBE R EHEEEREE 0.040] A 24,200 968| 24,200 968 0.000 0
i 36,479 36,479 0.000
B 1 1.0 km22Y) 364,790
EEANE 364,790
ZTRMBEE 0
data| (5#)
4




AR 22 {8 31| BE i =%

aEEL
T
MBS 3393 | = 55 ZeEE| 3393 |mesmkgEE
Hif&H | =Rk IKET 1-FNo 10 0.10 21 km2 A= e E A=
B & _ _ 1% - NEEAE B o= [[REesRONES)
e 7 H ® B = | B B Im | & % | B m | = %= i B3 | = %8
17[ B = A RIGMTEEEREE 0.600[ A 30,700 18,420| 30,700 18,420 0.000 0
g 18,420 18,420 0.000 0
B {f 1.0 km241) 184,200
EEAGE 184,200
ZTDMEE 0
datal ({§#)
4




A A R B A i
HHES 3394 | = 55 ZiHES| 3394 |EEsnEEE
Bifa# | SRS 1-FNo 10 0.10 21 km2 e E A=
B & _ _ e B NEEAHRE (BBEDSLDINES)
T e o % = |Hfu| B MW | € B | E M| £ 2 EE 8
1582 FEHED RIFMTEHEEEREE 0.180[ A 45,700 8,226] 45,700 8,226 0.000 0
168 £ FEf R EHEEEREE 0.270] A 40,000 10,800/ 40,000 10,800 0.000 0
178 EFEh#d R3pfiTEEERLE 0.390] A 30,700 11,973| 30,700 11,973 0.000 0
18[ A= BIF R EEEREE 0.140[ A 29,600 4144 29,600 4,144 0.000 0
i 35,143 35,143 0.000
B 1 1.0 km22Y) 351,430
EEANE 351,430
ZTRMBEE 0
data| (5#)
4




= REE?
=25 1 A B (i 3= i
HHES 3395 | mE 55 ZHRES| 3395 |mEsnEEE
BlAF =R REET 3771V ERK 1-FNo 10 0.10 21 km2 AE A E A=Eo
B & _ _ 1% - NEEAE B o= [[REesRONES)
R [EliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
1582 FEHED RIFMTEHEEEREE 0170 A 45,700 7,769 45,700 7,769 0.000 0
168 £ FEf R EHEEEREE 0.270] A 40,000 10,800/ 40,000 10,800 0.000 0
178 EFEh#d R3pfiTEEERLE 0.300] A 30,700 9,210/ 30,700 9,210 0.000 0
18| BIEBNF R EEEREE 0.100[ A 29,600 2,960/ 29,600 2,960 0.000 0
B 30,739 30,739 0.000 0
B 1 1.0 km22Y) 307,390
EEANE 307,390
ZTRMBEE 0

data| (5#)




= REE?
=25 1 A B (i 3= ﬁﬁ%%
HHES 3397 | mE 55 ZHRES| 3397 |mEsnEEE
BifA % |[FaiiT —MER 1-FNo 10 27.00 21 ha AE HifTENZ8H
B & _ _ 1% - NEEAE B o= [[REesRONES)
R [EliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
* 168 E FEh RIFMTEHEEEREE 0170 A 40,000 6,800/ 40,000 6,800 0.000 0
* 17[ B = e R EHEEEREE 0.480] A 30,700 14,736 30,700 14,736 0.000 0
502| iR e G E£K] [HMEEBEHTZEE 5.500] % 21,536 1,184 0 0| IR 0.000 0
B 22,720 21,536 0.000 0
B 1 1.0 hayl) 841
EEANE 798
ZTRMBEE 43
data| (5#)




= REE?
=25 1 A B (i 3= ﬁﬁ%%
e 3398 | me 55 EHEE| 3398 |EBAMEEER
Bl % (BE R T 377V ERK 1-FNo 10 27.00 21 ha AE A E A=Eo
B & _ _ f 3 NEEAGE - (BEDS>LDNES)
R [EliNe| 2 7 T 1 E [ Efr| B % | B im | = %8 i EER g
* 1582 FEHED RIFMTEHEEEREE 0.080] A 45,700 3,656] 45,700 3,656 0.000 0
* 16 = HEf R ERAEHE 0.130] A 40,000 5,200/ 40,000 5,200 0.000 0
* 178 EFEh#d R3pfiTEEERLE 0.270| A 30,700 8,289 30,700 8,289 0.000 0
502 | MR B CRB L) |0 LEIcmT 284 5500 % 17,145 943 0 0| Bt iR & 0.000 0
501 [ MAELHEXHE] |HMESBEIRTIEE 2.500 % 17,145 429 0 0| & 0.000 0
B 18,517 17,145 0.000
B 1 1.0 hayl) 686
EEANE 635
ZTRMBEE 51
data| (5#)
4




= REE?
=25 1 A B (i 3= e
HHES 3399 | mE 55 ZHES| 3399 |EEsmnEEE
B4 | =0 RN 1—FNo 10 1.00 21 = AE BiiENEBH
# & SSCEAROBT _ f 3 NEEAGE B o= [[REesRONES)
R BiNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
3| FEMA RIFMTEHEEEREE 0.500[ A 51,200 25,600/ 51,200 25,600 0.000 0
5|HiEfiC R EHEEEREE 1.000 A 32,800 32,800/ 32,800 32,800 0.000 0
B 58,400 58,400 0.000 0
B 1 1.0 XHY 58,400
EEANE 58,400
ZTDMIRE 0
data| (5#)




— 3 =PE 1
kR R E ey
FFHES 3400 | = 55 ZREE| 3400 [mEimEEE
BEima# |HEROBMYELD 1-FNo 10 1.00 21 = AE A E A=E
B & _ _ e B NEEAHRE B o= [[REesRONES)
e 7 H 1 B = | B B Im | & % | B m | = %= i B3 | = %8
3| BEA R ERAERHEE 1.000 A 51,200 51,200 51,200 51,200 0.000 0
5|3 ERC R ERAEHE 1.000] A 32,800 32,800/ 32,800 32,800 0.000 0
g 84,000 84,000 0.000 0
B {f 1.0 &Y 84,000
EEAGE 84,000
ZTDMEE 0
datal ({§#)
4




= REE?
A 25 {8 71 B 2% “sga
&S 3401 = 55 EiES| 3401 EEEMEERE
BEf&# [UAVIZEABEERS 1—FNo 10 1.00 21 = AE BiiENEBH
B & _ _ e B NEEAHRE B o= [[REesRONES)
T 7 T B & | By B m | & %8| B i | & %8 i B& | = %8
3390|1EXETE 1.000| %75 53,493 53,493 53,493 53,493 0.000 0
3391 [mearurEAORE -8R 0.240| km2 569,500 136,680| 569,500 136,680 0.000 0
3392(UAVIZ kB ZerhiR g 0.240| km2 364,790 87,550/ 364,790 87,550 0.000 0
3393| =R KiETT 0.240| km2 184,200 44.208| 184,200 44,208 0.000 0
3394 | R B RE 0.240| km2 351,430 84,343 351,430 84,343 0.000 0
3395 (=t mBts —477AMERL 0.240| km2 307,390 73,774 307,390 73,774 0.000 0
3397 | E S HRT —MERK 24.000| ha 841 20,184 798 19,152 0.000 0
3398 s RT ~477 ER 24.000| ha 686 16,464 635 15,240 0.000 0
i 516,696 514,440 0.000 0
B fiff 1.0 KXY 516,696
EEANE 514,440
ZTRMBEE 2,256

data| (5#)




= REE?
=25 1 A B (i 3= i
e 3404 | me 55 EHREE| 3404 |EEAMEEER
B4 |3 XU ABEER 1—FNo 10 1.00 21 = AE BirENERH
B & _ _ 1% - NEEAE B o= [[REesRONES)
R [EliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
x | 933 ANHE KRR | ZEMERES 0.390] A 35,000 13,650| 35,000 13,650 0.000 0
x | 9| AHE HERER (FEMERES 0.160] A 35,000 5,600/ 35,000 5,600 0.000 0
x | 940 A\HE HE-EHE WEHRES 0.160] A 25,900 4,144] 25,900 4,144 0.000 0
x | 935| A& HAER FEMERES 1110 A 35,000 38,850/ 35,000 38,850 0.000 0
x | 936| AHE HER ERES 2.280] A 25,900 59,052| 25,900 59,052 0.000 0
x | 93N AHE AT [MERES 0.160] A 25,900 4,144] 25,900 4,144 0.000 0
x | 938|AHE HE-EE [ FEMERES 1.500] A 35,000 52,500| 35,000 52,500 0.000 0
x | 939\ AHE HE-BEEMENRES 1.500[ A 25,900 38,850/ 25,900 38,850 0.000 0
505|#im s BB % HEEHEIHTREE 4.700] % 216,790 10,189 0 0| EmIRE 0.000 0
500|FE# & NELEIcHTIEE 5.000] % 216,790 10,840 0 0| Z DR E 0.000 0
B 237,819 216,790 0.000 0
B fiff 1.0 KBy 237,819
EEANE 216,790
ZTRMBEE 21,029
data| (5#)
4




= REE?
=25 1 A B (i 3= i
e 3405 | me 55 EHREE| 3405 |EEAMEEE
BRA% [JRIEIGPS RE 1-FNo 10 1.00 21 Bl AE HifTENZ8H
B & _ _ i B NEEAGE B o= [[REesRONES)
R [EliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
4| EfB RIFMTEHEEEREE 0.500] A 40,600 20,300/ 40,600 20,300 0.000 0
5|HiEfiC R EHEEEREE 2.000] A 32,800 65,600/ 32,800 65,600 0.000 0
e =] RIFZMTEHEEEREE 2.000] A 29,000 58,000/ 29,000 58,000 0.000 0
27|ET SHIFEIAFE 0.400] A 20,200 8,080 0 0 0.000 0
B 151,980 143,900 0.000 0
H i 1.0 BEFrSY 151,980
EEANE 143,900
ZTRMBEE 8,080

data| (%) ANF&E




= REE?
=25 1 A B (i 3= i
e 3406 | me 55 EHREE| 3400 |EEAMEEER
BRa % [(JRIEIGPS £l 1-FNo 10 10.00 21 ] AE ST E A E A=F-
B & _ _ 1% - NEEAE B o= [[REesRONES)
R [EliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i H® | = %8
* 10| #h 25 ER & A RIFMTEHEEEREE 1.000 A 47,500 47,500| 47,500 47,500 0.000 0
* 12| EREE R ERAEHE 1.000] A 25,900 25,900[ 25,900 25,900 0.000 0
504 |41 ¥ & MR LHEIcHTHES 3.300] % 73,400 2,422 0 0| & 0.000 0
B 75,822 73,400 0.000 0
B fiff 1.0 [EHY 7,582
EEANE 7,340
ZTRMBEE 242
data| (5#)
4




= REE?
=25 1 A B (i 3= i
HHES 3407 L = 55 ZHRES| 3407 |EEimnEEE
HE{RZF [ RIGPS &R BE 1-FNo 10 1.00 21 4B RE e E A=
B & _ _ 1% - NEEAE B o= [[REesRONES)
R [EliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
* 10| #h 25 ER & A RIFMTEHEEEREE 0.100[ A 47,500 4,750| 47,500 4,750 0.000 0
* 12| EREE R ERAEHE 0.870| A 25,900 22,533 25,900 22,533 0.000 0
504 |1 & MR LHEIcHTHES 2.700] % 27,283 737 0 0| & 0.000 0
B 28,020 27,283 0.000 0
B fiff 1.0 7H4Y 28,020
EEANE 27,283
ZTRMBEE 737
data| (5#)
4




= REE?
SR KBS gt
e 3408 | me 55 EREE| 3408 |EEAMEEER
Bl&# | JhrBGPS FRE 1—FNo 10 1.00 21 &l AE e A E A=Eo
B & _ _ f 3 NEEAGE B o= [[REesRONES)
T #h T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
941|GNSSZ1E 14 SEKIREI-R9P 1.000] 1& 100,000 100,000 0 0 0.000 0
942|GNSS7> T+ 1.000] #A 8,933 8,933 0 0 0.000 0
943|575 R IL— 1.000| 1& 4,233 4,233 0 0 0.000 0
MAT7oTFHISVT 1.000| 1@ 933 933 0 0 0.000 0
945|USBAE!) 1.000| 1& 1,333 1,333 0 0 0.000 0
946|a> /A —4— SV/12V 1.000 1& 2,066 2,066 0 0 0.000 0
947|USB-typeB 1.000 1@ 1,000 1,000 0 0 0.000 0
948]/\yF1)— 1.000 1& 16,100 16,100 0 0 0.000 0
949|/ 3T —RyH R 1.000| %8 3,766 3,766 0 0 0.000 0
950|V—5/3RJL 1.000] # 4,833 4,833 0 0 0.000 0
951| MBI FO—5— 1.000| 1& 10,000 10,000 0 0 0.000 0
952| = {k 1.000 1& 13,100 13,100 0 0 0.000 0
953|EHETEE 1.000| #A 3,450 3,450 0 0 0.000 0
i 169,747 0 0.000 0
B 1 1.0 BT Y 169,747
EEAGE 0
Z DR E 169,747
date| (&%) HEWRE. MHE




= REE?
2 21 18 Il B i 5= e
e 3409 | me 55 EREE| 3400 |EEAMEEER
B {fi & 1 [UAVE D R HT 1-FNo 10 1.00 21 = AE e E A=
B & _ _ f 3 NEEAGE B o= [[REesRONES)
T 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
3399| = N R = &(ZEh) A B DT 1.000{ = 58,400 58,400 58,400 58,400 0.000 0
3400|FLE S ORYELD 1.000] =t 84,000 84,000/ 84,000 84,000 0.000 0
s 142,400 142,400 0.000 0
B {f 1.0 XHY 142,400
EEAGE 142,400
Z DR E 0
data| (5#)
4




= REE?
SR KBS gt
e 2814 | me 55 EREE| 2014 |EEAMEEER
Bf& M |54/ \i88 31—k No 10 1.00 21 H AE ESTETAE J=E-T
B & _ _ f 3 NEEAGE B o= [[REesRONES)
T #h T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
32|51 ks \18%11.52 |1500 cc 9.000( FME 501 4,509 0 0]132.3x2/30=8.82]| 0.000 0
AV 23.400| L 114 2,668 0 0]2.60%9.00=23.40]| 0.740 84
7177 0 0.740 84
B 1 1.0 H&Y 7,177
EEANE 0
ZTDMhIEE 1177
data| (&%) BFFFR7Eh~IR1E 132.3km ERAIA %0208 0.047kw*56kw=2.60




= mEEE
=25 1 A B (i 3= i
M HES 2815 | mE 55 Z85EE| 2815 |mEamsEE
Bifi&# |REE 1-FNo 10 1.00 21 = AE BirENEB R
B & _ _ f 3 NEEAGE B o= [[REesRONES)
T #h T B & | By B m | & %8| B i | & %8 i B& | = %8
2814|514 b\ 8% 13.000] H 7177 93,301 0 0/3.0x30/7=12.8]| 0.000 0
i 93,301 0 0.000 0
B {f 1.0 XHY 93,301
EEAGE 0
ZTRMBEE 93,301
data| (5#)
4




